
    Princess Vulnavia presents …  Cloud 9;  Revision Raindrops 

Produced at Night Park Lane by Anthony van Bïck 
www.nightparklane.com 

Surd Form: Application to Trigonometry 
 
Raindrop 4d   
 
Exercise 1:   Without using a calculator and showing all necessary working, calculate x.  
 

               
 
 

Exercise 2:   (i)  Factorise   2  +  2  +  3  +  6 
 

        (ii)  Find   ( 7 + 26 ) in the form p + q 
 

                     (iii)  

      
 
        Without using a calculator and showing all necessary working, prove that: 
 

                       y = (1 + a )(1 + b )  (where a and b are rational numbers 
               to be determined ) 
 
         
 
 
 
 
                  The answers follow on the next page … 
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Raindrop 4d   
 

Exercise 1:   Without using a calculator and showing all necessary working, calculate x.  
 

               
Answer:   x = 1 
 
 

Exercise 2:   (i)  Factorise   2  +  2  +  3  +  6 
 

Answer:         2   +  2  +  3  +  6        ( 2  + 3 ) (2  + 1 ) 
 
 

Exercise 2:    (ii)  Find   ( 7 + 26 ) in the form p + q 
 

Answer:     ( 7 + 26 )  =  1 + 6 
 
 
Exercise 2 
 

(iii)  

      
 
        Without using a calculator and showing all necessary working, prove that: 
 

                       y = (1 + a )(1 + b )  (where a and b are rational numbers 
               to be determined ) 
 

 

Answer:      y    =  ( 1  + 2 ) (1 + 6 )  
 
Comparison with the form: 
 

    y    =   (1 + a )(1 + b ) 
 

gives: a = 2 and b = 6 
 

               (or vice versa) 
  


